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Two cats play together.
One cat joins them.
Now how many cats 
are playing?
Three.

How Many 
All Together?

Tom has one 
flying dinosaur.
Pete has one T-Rex.
How many dinosaurs do 
they have all together?
Two.

Pete has two blocks.
Tom has two blocks.
How many blocks do they 
have together?
Four.

Pete has three cars.
Tom has two cars.
How many cars do they 
have all together?
Five.

Two kids have spinners.
Five more kids 
get spinners.
How many spinners do 
they have all together?
Seven.

Tom buys two angelfish.
He already has seven 
angelfish.
How many angelfish does 
he have all together?
Nine.

Pete has eight mice.
He gets two more mice.
How many mice does 
Pete have all together?
Ten.


